D
MULTICYCLONE 12 Plus C40 (Multicyclone 12 Plus C40 Cartridge)

(Product code 200376)
Part Number Product Description Diagram Number
61314 Collector 40mm (Clamp Type) 1
620221 Air Relief Valve 2
621625 Pressure Gauge Dry Bottom Mount 400kPa 3
6220202 Clamp Band 8" (2 required) 4
622203 Sh Cap Screw M8X60 Overmoulded (2 required) 5
Washer Flat M8 Brass 6
622195 Knob with M8 Brass Insert (2 required) 7
61324 'O' Ring 4 X 200 8
61310 Cartridge Housing 9
62451 Cartidge Element 40sq ft 10
61308 'O Ring BS268 (2 required) 1
61317 Multi Cyclone Body 40mm (12 Cyclones) 12
S0614511 'O' Ring BS224 13
61312 M/Cyclone Sediment Bowl 40mm 14
122243B Half Union 40mm Black (2 required) 15/16/17
1222252 Half Union 25mm Black 18/19/20
140252 Compact Ball Valve 25 Black 21
6201931 Viton Air Release O Ring n/s
6340021 M6X45 bolt-Nut-Washers Kit (12ea) 22/23/24
1125156 Black Pipe CL15 25MM X 300MM
1213252 Elbow 90 Deg 25mm - Black

H A & A Il Il I aan A

VVA I ER\WV

water, the liquid of life




